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across an alluvial stream having a d1scha§é;)“0 5\60 Pcumecs Calculate the depth of
maximum scour when the bridge consists ' [4 Marks]
a. Three span of 15m each

b. Two span of 30m each

¢. Four span of 30 m

Take f=1.1

3. Design a waterway; for a brldge over a trapezoidal channel having side slope of 1:1 with a
discharge of 25 mBZS abed fall of 1:1000 and a bed width of depth ratio of 6:1. The bed
material i <sand w1th a safe velocity of 2.5m/s. The afflux should not be more than

SCm.TEflge W

ggfhmg coefficient n =0.025 and width of stream at HFL = 10.88m.
[4 Marks]
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St the Factors on which overall cost of the bridge depends. Derive the expression for

'effectlve economical span, along with all the assumptions followed in the derivation. The
“approximate costs of one superstructure and one pier for a multi-span bridge are given
below. Estimate the economic span. f4 Marks]

Span(m) 10 16 19
Superstructure cost (Rs) 34,000 | 80,000 | 150,000
Substructure cost (Rs) 50,000 | 54,000 | 48,000




